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Note: Attempt any 4 questions
Figures to the right indicate full marks

Assume data wherever required and rnention it ciearly
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new stress tensor if o-y axis is tumed though 30o in O-X-Y plane.thoug -30o

-50

= -0.08

= 210 x 106 kPa,and v, = 0.28

(ii) State and derive stress

(ir) Given the

is compatible
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Find the strain tensor, Take Shear Moduls o'..q " r x / mm' .-1, .

Q6 Write short nqte$on (Any Tn'o)

varioui typei,of corrosion & explain cavitations
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The stress tensor is given by

d, = 110 N lmm',o ,

r,,=-440 N/mm',rv
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What are

show the
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gauges

use of "CRO" tube for the dvnamic strain

Draw a neat sketch of


